Name;

5.3 Extra Practice

1. Add the polynomials by combining like terms.

a) (3x? -2x) + (x* + x) b) (4n2 -2n - 4) + (-n? + 5n)
2 .
2 An" +3n -
4‘;‘ - X Lf
c) (7r - 8) + (3r2 - 11) d) (2b2 - 8b) + (-2b% + 11b)
_ & :
,(_%f‘ .P-Tr‘ = ]q Q%Z)
e) (7t -6t + 9) + (-2t2 + 6t - 5) f) (-14k - 10) + (8k —-23)
;A - 2
l)-f + 1’, é /Q ,>77

2. Determine the opposite of each expression.

a) 6a b) -3¢ -9

. =5 2 >

= b4 AC +9
c)d?-8d + 2 d) 6w? + 4w - 0.8

~d™e Rd - b= Hw 10X



3. Subtract the polynomials by adding the opposite terms:

a) (ba - 4) - (3a - 2) b)) (7-6rn-(3+7nr)
A~ A ~ T + 4
c) (6y? - 2y) - (-y? - 3y) d) (8 - 5t) - (-9 - 4%)

7Ya+\/ - + V7

e)(h-1)-(3h?+7) f) (4k?> - 6k + 1) - (-2k* + 5)

3 4 h-% bk’ -tk -6

4. A triangle has the dimensions shown.

x-2 2x - 6

3x -9
a) Write the unsimplified expression for the perimeter of the triangle.

D= (e ¥ Q-+ (B3x-9)

b) Simplify the expression in part a) for the perimeter of the triangle. Show

your work,

o AL+ 22X+ 5X-9 ﬂ |
)D s(.+?_>(\f‘%x4—9~’bq - é‘X“’-i%
c) If x = 6, what is the perimeter? Show your work.
P= (13
p- 3613

r73<93



